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General Answer Format:

Each Sudoku has two marked rows or M
columns. You need to submit all digits

in the corresponding directions, from
left to right or from top to bottom.

In the example, the two answer keys

are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the

submission.
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Version:
This is version 1 of the instruction booklet.
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1-5 Classic Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Example Solution
118 214 59 1|8 6(2]4|7 3
6 9 1 36 7|5 9/412/1 8
8 9 82 411 7/3]6/5 9
1 9 85 6 113 2|19 85|74 6
4 3 / 8 64 5|3 17|98 2
9 412 6 1 9|7 8l4 2[/6]5/3 1
7/ 4 /7159]|6 3|/1]|8|2 4
8 4 6 28 3|7 4/9]1|/6 5
6|2 813 411,612 5/8]13|9 7
6 No Touch Sudoku
Apply classic sudoku rules. Equal digits must not touch each other diagonally.
Example Solution
6 7 1 4 5(6|9|7/8(1|2]4 3
4 6 1 4/2/8]5/6|/3|7]|9 1
4 9 /713/1]14/2/9]6/8 5
6 / 3 9 6471815132 9
1 7 2/115]19/3|4|8|7 6
8 3 S 4 8 9/3|6/7/2]5/1 4
1 8 3/5/2|1/9/8|4|6 7
1 4 2 1/8/6]|3|4|7]9|/5 2
7/ 2 6 3 9/7/4]12/5/6|1/3 8
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7 Quadruple Sudoku
Apply classic sudoku rules. At some intersections of two crossing grid lines, a set of four digits is
given. These digits must be placed in the four adjacent cells.

Example Solution
6 3 2(8/9 5[4 17
i o 8 9/7(6/1 415 2 3
i 1541713 216/18 9
| 9 2/6|3/7 11874 5
/718 1]15]4/9]12 3 6
54 3|2/6 8|7 9 1
o 418|9/56|3 72
I 275|118 3|9 6 4
| | 36 9|42 7|1/5 8

8 Odd/Even Sudoku

Apply classic sudoku rules. Digits in circles must be odd and digits in squares must be even.

Example Solution
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9 XV Sudoku

Apply classic sudoku rules. Adjacent cells containing digits summing to 5 are marked with a “V*
adjacent cells containing digits summing to 10 are marked with an “X“. Adjacent cells with no
marking must not contain digits summing to 5 or 10.

Example Solution
N 5/6 9(7/8 4[2+3 1
3 |1 x 7:3 8|126|9 45
v 2 : 4v1 2|59 3;7 6 8
2 (9 3v2 6|94 8|15 7
x 89 7:3/1 5|62 4
v 2r 9 1:4 5|6 7 2;8 9 3
o 9| 8 67 1;4/3/9|5 852
) >|<3_ x 25_4§6_7>|<31>_<9
v v 9 8 3v2/ 5/ 1v4 7 6

10 X-Sums Sudoku
Apply classic sudoku rules. The clues outside the grid indicate the sum of the first X digits placed in
the corresponding direction, where X is equal to the first digit placed in that direction.

Example Solution

1 9 12 26 39 41 21 45 19 1 9 1226 39 41 21 45 19
1 26 1112 3|6 7 8|5 9 4|26
42 11 42(8 7 411 9 5|12 6 3|11
29 30 296 /9 5|2 4 3|1 8 7|30
37 23 37(7 6 118 2 9|14 3 5|23
20 40 20053 214 6 7|19 1 8}40
45 9 45(9 14 8|5 3/1|6 7 2]9
17 31 17141 9|3/ 8 2|7 5 6]31
10 1 1012 8 7|19 5 6|3 4 1]1
14 45 141315 6|7 14|18 2 9145
9 213338 1 1340 6 45 9 213338 1 1340 6 45
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11 Thermo Sudoku
Apply classic sudoku rules. Starting at the “bulb”, digits placed along each marked thermometer must
form a strictly increasing sequence.

Example Solution

W] N O,

O N B0 N~ OIW
N =W O NS |~ | 0
W= ON O N
= OOIN W OIN|0 |~
O OWIN =K~ N
A NN ||| —=|©
NOOOIOHNN =]~ WO
O WIN|PB O DO N |—
O =2ON W N O,

O N |H|J

7131

12 Skyscrapers Sudoku

Apply classic sudoku rules. Each digit represents the height of a building. The clues outside the grid
indicate the number of buildings visible from the corresponding direction. A taller building will hide
any shorter buildings behind it.

Example Solution
6 5 6 5
7 419(618(1/5|3/2|7
4 3/8{1|7/2 9]|6/5/4]|4
4 5/7/2|6|3/4]19/1|8
2 8/4/9]1|7/3]2/6|5
9 911/2|3|4|/5/6|7(8|9
5 716(519(8/2|1/4|3
3 6/5/8|3(9/1]14|7]|2
8 812 3/4|5/6/7|8/9]1
9 9/1,7]2(4/8|5/3|6
7 7
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13 XY-Differences Sudoku

Apply classic sudoku rules. If there's a diamond between two horizontally adjacent cells, then the
absolute value of their difference is the same as the leftmost digit in that row. If there's a diamond
between two vertically adjacent cells, then the absolute value of their difference is the same as the
topmost digit in that column. All possible diamonds are given.

Example Solution
7 K 713/5(8(4/6[299 1
4 3% 64829173‘5&
1 8 9/2/117/3/5|8|6|4
3151996821491 |7
27431965@
118|695|74¢3¢2|9
2 1 N 46295817%
1 3 5(1/714/6/3|19|8|2
8 6 8/9/3|1/2/715/41|6

14 Knightmare Sudoku
Apply classic sudoku rules. Two cells which are a knight's move apart must not contain digits which
add to either 5 or 15.

Example Solution
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